Math 45 Introduction to Correlation Coefficient, r (part 1) Handout 35
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Math 45 Introduction to Correlation Coefficient, r (part 1) Handout 35

Questions:

”

1. Ifris a positive value, how would you describe the data set? Use language such as this “if the x-value increases, then the y-value

”n

2. Similarly, what if r is a negative value, how would you describe the data set? Use language such as this “if the x-value increases, then the y-value

3. Canyou come up with another example of a scatterplot where r=1? And forr =-1?



